Lrampron:

Power & force MNNoCTPUPOBaHHbIN KaTanor 3anacHbIX YacTei Mogenb: LM5131
3
19
20
14
22
Ne ApTUKyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-Bo
1 20340060000 060/104Ka PYKOATKM 1 12 | 70780080 Tpoc xoaa 1
2 70540083 Pblyar BbIKAOYEHUA ABUraTenA 1 13 60110040 Bbont M8x50 2
3 70550073 Pbluar BKNOYEHUA Xoaa 1 14 | 60190140000 LWaiiba 4
4 70500550130 PyKkosTKa paboyas BepxHsAA NoJOBMHA 1 15 | 20040070 [alika KpenneHua BepxHen PyKOATKM 2
5 70230090000 KpoHwTenH gns Tpoca ctapTepa 1 16 | 60140080000 lalika M8 4
6 60130020000 laiika M6 1 17 | 70520210130 PykosaTka paboyan HUXKHARA 1
7 70050120000 KpOHLWTEH KpenneHus Tpocos 1 18 | 20240010000 PukcaTop Tpocos 1
8 60060590000 Bont M6x30 2 19 | 60060420000 Bont M8x16 2
9 60150080000 laiika M6 2 20 | 60040090000 Bont M8x30 2
10 20030030130 OrpaHuuuTenb pblvaros 2 21 | 60150020000 lalika M8 2
11 70810040 Tpoc BbIKNOYEHUA ABUraTeNA 1 22 | 20040050 FaiKa KpenaeHna HUKHEW PYKOATKU 2




Lrampron:

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mogenb: LM5131

ApTukyn HaumeHoBaHve K-Bo ApTukyn HaumeHoBaHne K-Bo
1 70740840000 Kopnyc 1 13 | 60410080000 Mpy>nHa TArn 1
2 60370020000 Konbuo ynnotHuTenbHoe 1 14 | 70180180000 TAra peryMpoBKM BbICOTbI KOLLIEHUA 1
3 20460010000 LWryuep 1 15 | 60300030000 Wrner 2
4 60160010000 laiika M12x1,25 1 16 | 60060660000 Bont M6x12 2
5 20590020000 Cronop Tpoca 1 17 | 60150080000 laiika M6 2
6 70070120000 KpOHLWTENH KpenneHna pyKoATKU NeBbli 1 18 | 20160090000 3arnyLlwka KaHana Bbibpoca Tpasbl B 1
TPaBOCOOPHUK

7 70070060000 KpOHLWTEWH KpenneHus pyKoAaTKU Npasblii 1 19 | 70060060000 KpOHLWTENH KpenaeHna KpbILLKK 1
8 60060420000 Bont M8x16 4 20 | 20120010000 KpbilwKa 6okoBoro Bbibpoca 1
9 60150020000 laika M8 4 21 | 20110080000 [Lednektop 60KkoBOrO BbIOPOCA 1
10 70250060000 3y6uaTblii cekTop 1 22 | 70030070000 OcCb KpbILWKK 1
11 70290200000 MnacTtMHa KpenneHua ocu Konec 2 23 | 60390010000 Mpy*xuHa 1
12 60170400000 Bont M6x10 6 24




Lrampron:

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mogenb

: LM5131

Ne ApTUKyn HaumeHoBaHne Kso | N° ApTukyn HaumeHoBaHve K-Bo
1 70840150000 Ocb nepeaHWX Konec 1 4 60150090000 [alika KpenneHusa Koneca 2

2 20880100 Koneco nepegHee 2 5 20620030 Konnak nepepHero koneca 2

3 60010110 MoAWNNHKK Koneca 4 6




Lrampron:

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mogenb: LM5131

Ne ApTykyn HaunmveHoBaHune K-Bo Ne ApTukyn HavnmeHoBaHve K-Bo
1 70850570000 Ocb 3agHuMX Konec 1 9 70300150 LLlecTepHa npuBOAa nesoro Kosieca 1
2 70860310 PenykTop npusoga Konec HOBOro 1 10 70300160 LLlectepHa npuBoaa npaBoro Koneca 1
obpasua

2 70860310-1 PenykTop npusoaa Konec cTaporo 1 11 60290060000 LWTndT wectepHu 6
o06pasua (6e3 oTBepcTMiM Ha Bany)

3 70600110 BTynKa 3agHen ocun 2 12 20880080 Koneco 3agHee 2

4 60020010000 MoawwunnHuk sTynkmn 6001RS 2 13 60010110 MogwunnHuMK Koneca 4
5 60200090000 Lanba 2 14 60150090000 lalika KpenaeHua Koneca 2
6 20610030 Konnak 3agHero Koneca BHyTPEHHWUI 2 15 20620060 Konnak 3agHero Koneca 2
7 | 60240060000 LWarba 6 16 60410560000 MpyKunHa 1
8 | 21070030000 LWatba 4 17 60320060 PemeHb NprBoaa 1




Lrampron:

Power & force MNNoCTPUPOBaHHbIN KaTanor 3anacHbIX YacTei Mogenb: LM5131

12
Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-Bo
1 70010070 Pamka TpaBocbopHMKa 1 8 60220010000 LWanba 2
2 20080060 TpaBocbOPHWK BepXHAA YacTb 1 9 60300030000 WnanHt 2
3 21010010 TpaBoc6OpPHUK CpeaHAs YacTb 1 10 20750090000 Haknagka geku 1
4 20050080 TpaBOCOOPHMK HUMKHASA YaCTb 1 11 60060290000 Bont M5x12 3
5 20380060 KpblwKa oTceka TpaBocbopHUKa 1 12 60150060000 Maiika M5 2
6 60380240000 Mpy*XMHA KpbIWKK 1 13 60130010000 laitka M5 1
7 70030050000 Ocb KpbIWKK 1 14




Lrampron:

Power & force UNNoCcTpMpOoBaHHbIM KaTanor 3anacHbIX YacTel Mogenb: LM5131
Ne ApTukyn HaumeHoBaHue K-Bo Ne ApTukyn HaumeHoBaHve K-Bo
1 70140400 ApanTep HOXa 1 5 60060390000 Bont M8x25 1
2 C5136 Hox gna Tpasbl 1 6 60060180000 Bont M8x30 2
3 60200240 LLaiba KpenneHus HoXa 1 7 20660110 Koxyx pemHs 1
4 60100030 BonT kpenneHus Hoxa 3/8-24UNF-50 1 8 70150240000 BTynka




Lrampron:

Power & force UNNoCcTpMpOoBaHHbIM KaTanor 3anacHbIX YacTel Mogenb: LM5131
Ne ApTukyn HaumeHoBaHne K-Bo Ne ApTukyn HaumeHoBaHne K-Bo
1 GB6177.1-2000 laiika M6 6 5 GB6177.2-2000 rarika M14x1,5 1
2 V5-70-001-000 KpblwKa gsuratens 1 6 P-70B-07-01-000-00 CTakaH MaxoBMKa 1
3 P-65-07-01-000-00 CrapTep B cbope 1 7 P-70B-07-04-000-00 KpblnbyaTka MaxoBuKa 1
4 V5-70-101-000 Kpbiwka BeHTUNATOPA 1 8 V5-7A-100-000 MaxoBuk 1




Lrampron:

Power & force

Ml'll'”OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTen

Mogenb: LM5131

38

P4
5]

ApTurKyn HavmeHoBaHne K-Bo ApTurKyn HavnmeHoBaHve K-Bo
1 | V5-1B-100-000 Unnnnap 1 24 | GB5789 Bont M6x22 3
2 P-65-05-06-000-00 LWnaHr canyHa 1 25 P-65-05-05-000-00 DUNbTP TONNUBHBIN 1
3 P-65-01-01-050-00 Ban perynatopa o6opotos 1 26 | P-65-05-06-000-00 XomyT wnaHra 1
4 P-65-01-01-100-00 LWai6a 6,5x15%0,5 1 27 P-70B-05-05-000-00 LUnaHr TonAnBHbIN 340MM 1
5 P-65-01-01-120-00 CanbHuK Bana perynatopa 6x11x4 1 28 | P-70B-01-05-060-00 [epxaTtenb wnaHra 1
6 P-65-01-01-060-00 WnanHT Bana 1 29 | P-65-05-07-000-00 XomyT wnaHra 1
7 V5-10-103-000 Tara perynatopa 1 30 | P-70B-03-02-000-00 MpoKknagKa Bo3gyxoBoga 1
8 P-65-01-06-010-00 MpyKnHa TArm 1 31 | V5-1A-100-000 TOPMO3HOM MeXaHWU3M C BblKNOYaTENEM 1
9 V5-10-004-000 Pbiyar perynaTtopa 1 32 | GB6182 laiika M6 2
10 | GB6177.1-2000 laitka M6 1 33 | V5-50-002-000 KpoHwWTelH npasbiii KpenaeHus 6aka 1
11 | P-65-01-06-040-00 Bont M6x23 1 34 | V5-50-003-000 KpoHLWTelH neBblii KpenneHua 6aka 1
12 | P-70B-01-06-000- KpoHwWwTenH perynatopa 1 35 | V5-50-004-000 KpOHWTENH HUKHWUIA KpenieHus 6aka 1
13 | V5-10-005-000 MNpyunHa 1 36 | GB6182 lalika M6 1
14 | GB5789 Bont M6x12 6 37 | V5-10-003-000 LLnunbKa KpensaeHua ctapTepa 1
15 | V5-10-000-000 Kpbiwka canyHa 1 38 | P-70B-07-07-020-00 BTynka wnunnbku 1
16 | V5-10-010-000 KnanaH canyHa 1 39 | V5-10-001-000 LLnunbKa KpenneHua ctapTepa 1
17 | V5-10-020-000 MpoKnagKa KpbIWKK canyHa 1 40 | V5-10-002-000 LLinunbKa KpenneHua ctapTepa 1
18 | P-65-01-01-040-00 ®dunbTp canyHa 1 41 | GB5789 Bont M6x30 1
19 | GB5789 Bont M6x22 3 42 P-65-01-030-10-01 MnacTnHa BO34yxOHanpasasaowan 1
20 | P-65-05-01-010-00 Mpobka TonnmBHOro 6aka 1 43 P-65-01-01-170-00 LWaiba 6,5x12x1 3
21 | P-65-05-01-060-00 BcTaBKka noposoHoBas 1 44 | P-65-07-03-020-00 MarHeto 1
22 | P-65-05-01-020-00 CanyH npo6ku 1 45 P-65-01-07-010-00 MpoknagKka marHeTo 1
1

N
w

P-65-05-01-030-00

Bak TOn/MBHbIN




Lrampron:
Power & force

Mogenb: LM5131

MI'IJ'HOCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTen

29
31
2
Ne ApTukyn HaumeHoBaHune K-Bo Ne ApTUKyn HaumeHoBaHve K-Bo
1 V5-1D-100-000 KoneHnsan 1 20 | V5-1C-100-000 CanbHuK Konexsana 25x40x7 1
2 V5-1E-100-000 LaTyH KomnaekT 1 21 | GB5789 bont 6
3 BoAnT KpbILWKK WaTyHa 2 22 | P-65-01-02-070-00 LWai6a 10,5x15x1,5 2
4 KpblwKa wartyHa 1 23 | GB5787 Bont M10x1,25x12 2
5 WaTtyH 1 24 | V5-80-001-000 Tapenka Tonkatena KnanaHa 2
6 P-65-01-02-100-00 CanbHUK KoneHBana 25x38x7 1 25 | V5-8A-100-000 Pacnpepggan 1
7 GB276 MoAwnnHMK KoneHsana 6205 1 26 | P-65-01-01-170-00 LWaiba 6,5x12x1 1
8 | V5-10-006-000 MopweHb 1 27 | P-65-01-02-090-00 Cronop 1
9 H1-40-003-000 KonbLo cTonopHoe nanbua 2 28 | P-70B-01-02-050-00 Mnata ocu perynatopa 1
10 | H1-40-002-000 Maney nopwHa 18x54 1 29 | GB5789 bont nnatbl M6x12 1
11 P-70B-01-03-070-00 HanpasnAowan macnocbemHOro 2 30 P-65-01-02-020-00 TonkaTenb perynatopa 1
Konbla

12 | P-70B-01-03-060-00 Mpy*KMHa MacnocbeMHOro KonbLa 1 31 | P-65-01-01-060-00 Cronop ocu perynatopa 1
13 | P-70B-01-03-050-00 Konbuo nopwHesoe Il 1 32 | P-65-01-02-030-00 Perynatop LeHTpobesKHbIn 1
14 | P-70B-01-03-040-00 Konbuo nopwHesoe | 1 33 | V4-10-001-000 Ocb LeHTpobexxHoro perynatopa 1
15 | V5-10-009-000 Larba 25,2x37x1 1 34 | P-65-01-05-030-00 BTynka KpenneHuA ropsoBuHbI 1
16 | V5-10-007-000 Mpoknagka KapTepa 1 35 | GB3452 Konbuo ynnotHutenoHoe 21x2,3 1
17 | P-65-01-01-020-00 WtndT 8x14 1 36 | P-65-01-05-000-00 FopnoBuMHa macnosanusBHasa 1
18 | Vv4-10-010-000 LWrndr 9x14 1 37 | GB5789 Bont M6x50 1
19 | V5-10-008-000 KpblwKa KapTepa 1 38




Lrampron:
Power & force

MI'IJ'HOCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTen

Mogenb: LM5131

kB 3
3

Ne ApTuKyn HavmeHoBaHWe K-so | Ne ApTUKyr HaumeHoBaHWe K-Bo
1 V5-2A-100-000 [onoBKa umMnuHapa 1 22 | GB5789 Bont M8x50 4
2 P-70B-08-07-000-01 KnanaH BbinyckHOWM 1 23 F7RTC CBeya 3aXkuraHus 1
3 P-70B-08-06-000-01 KnanaH BnyckHoM 1 24 | H1-50-002-000 TonKkaTenb KnanaHa 2
4 P-65-02-05-000-00 BTynka Hanpasnatowan 2 25 P-70B-08-03-000-01 Hanpasnstowas WraHrv TonKkatenen 1
5 P-70B-02-04-000-01 MpoKknagKa ronoBKM UMANHAPA 1 26 | P-65-02-06-000-00 Konnayek macnocbemHbii 1
6 GB900 LUnnnbKa KpenneHua raywmntens 2 27 | P-70B-08-08-000-01 Mpy>MHa KnanaHa 2

M6x94
7 P-70B-03-02-000-00 MpoKknagKa noa Tennom3onaTop 1 28 | P-65-08-10-000-00 Cyxapb BbINYCKHOrO KnanaHa 1
8 P-70B-03-04-000-00 TennousonaTtop 1 29 P-65-08-09-000-00 Cyxapb BMYCKHOro KnanaHa 1
9 P-70B-03-03-000-00 Mpoknaaka noa Kapbiopatop 1 30 | P-65-08-11-000-00 Konnayek BbINYCKHOro KianaHa 1
10 | V5-3A-100-000 Kap6topaTop 1 31 | P-65-08-02-020-00 LinnnbKa Kopombicna 1
11 | P-65-03-05-000-00 MpoknagKa noa Kopnyc 1 32 P-65-08-02-000-00 Kopombicno knanaHa 2

BO3AVWHOrO dunbTpa
12 | P-65-04-01-010-00 KpbllwKa Bo3aywHoro ¢punbTpa 1 33 P-65-08-02-030-00 [alika perynnmpoBoYHas 2
13 | P-65-04-01-060-00 DUNbTP BO3AYLLHBIN 1 34 | P-65-08-02-040-00 KoHTpraiika 2

NopO/IOHOBbIN
14 | P-70B-04-01-010-00 DUNbTP BO3AYLLUHbIN BYMaXKHbIN 1 35 P-65-02-03-000-00 MpoKnagKa KpbIWKK KNanaHos 2
15 | GB6177.1-2000 laiika M6 2 36 | P-70B-02-02-000-00 KpbllWwKa KnanaHoB BHYTPEHHAA 1
16 | P-65-04-01-070-00 BTynka 2 37 | P-70B-02-03-000-00 KpblWKa KnanaHoB Hapy»KHasA 1
17 | P-65-04-01-030-00 Haknagka Bo3gyxosoga 1 38 | GB5789 Bont M6x14 4
18 | P-65-04-01-020-01 Kopnyc Bo3aywHoro punbtpa 1 39 P-65-06-02-000-00 Mpoknagka rnywntens 1
19 | P-65-05-10-030-00 XomyT wnaHra 2 40 | V5-12C-100-000 Fnywutensb 1
20 | P-65-05-10-000-01 Mpaiimep 1 41 | GB6187.2 laitka M6 2
21 | P-65-05-10-040-00 LnaHr npaimepa 1 42 | V5-13G-101-000 PeweTKa rnywutens 3awmtHas 1




